ITEMNO. | PART NUMBER DESCRIPTION Qry.
1 1-019 INWALL DIVERTER, 4PORT TWO INLETS & TWO OUTLETS 1
11 2036 DIVERTER BODY, TWO INS FEMALE - TWO OUTS MALE 1
12 10422 CARTRIDGE, LIFETIME MOTION 29MM 1
13 10004 NUT, TOP BODY DIVERTER 1-1/4-20UN THRDS 1"HEX 1
1.4 10054 STEM EXTENSION, 20PT INT. TO 16PT LONG EXT. BROACH 1
15 92157 SCREW, SMALL HD M4X0.7 - 1/2'L 1
1.4 10209 SHANK, NIPPLE THREAD ALL 9/16"-20UN WITH .433"ID 1
2 1-045 CORNER VALVE HOT WITH 1/2° FEM OUT 16PT 1
2.1 2-143 SUB. ASSY. INWALL ROUGH VALVE (HOT) 1
2.2 10211 CARTRIDGE, VALVE 1/2G20PT HOT LEAD FREE 1
23 10054 STEM EXTENSION, 20PT INT. TO 16PT LONG EXT. BROACH 1
2.4 92157 SCREW, SMALL HD M4X0.7 - 1/2'L 1
25 10058 NUT, ADAPTOR CART. TO THREADALL, M24X1.0 - 9/16"-20UN 1
26 10209 SHANK, NIPPLE THREAD ALL 9/16"-20UN WITH 433"ID 1
2.7 10324 MUD GUARD PVC 1
3 1-046 CORNER VALVE COLD WITH 1/2" FEM OUT 16PT 1
31 2-144 SUB ASSY. INWALL ROUGH VALVE (COLD) 1
32 10210 CARTRIDGE, VALVE 1/2'G 20PT COLD LEAD FREE 1
33 10054 STEM EXTENSION, 20PT INT. TO 16PT LONG EXT. BROACH 1
3.4 92157 SCREW, SMALL HD M4X0.7 - 1/2'L 1
35 10058 NUT, ADAPTOR CART. TO THREADALL, M24X1.0 - 9/16"-20UN 1
3.6 10209 SHANK, NIPPLE THREAD ALL 9/16"-20UN WITH .433'ID 1
37 10324 MUD GUARD PVC 1
- INTERPRET GEOMETRIC DIMENSIONING &
. ASHIE ¥ 14.5.2000 & ASME 114 412008
| =, ] pv— [ = sl — Lo N e THREE HANDLE TUB & SHOWER VALVE
REVISIONS NEXT ASSY USED ON FE‘IAI%EIPNS gE;‘:IMAEL? ‘:’:—.GULAR
. PROPRIETARY AND CONFIDENTIAL APPLICATION ool SIZE | ASM/PRT NO. REV
cosm uesk EASRNE e LN e | NAVE | DATE 80951PHY -
PHONE: 714.341.4800 y ANY REPRODUCTION IN PART OR AS A WHOLE | FINH DRAWN LLO  10/20/2015
FAX: 714.617.3120 WITHOUT THE WRITTEN PERMISSION OF RSS
MANUFACTURING 15 PROHIBITED. DO NOT SCALE DRAWING | CHECKED GRE SCALE: 1:4 WEIGHT: |bs. SHEET 1 OF 1
5 4 3 2



